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Unit 3 Study Guide/Practice Test

Jeremy drove 54 ; miles in 45 minutes. If he drove at a constant rate, what is his speed in miles per

Name:

1.
hour? (Hint: What fraction of an hour is 45 minutes?) 54 - 54g 2 ‘3_, _ 7—}'*7 . fj' H1
, 2 - 327 7
His speed is _[7Z Z mph. 2 l =Z7115)
2. The table below shows the cost for ordering a certain number of tacos. What is the value of xif the -
cost is proportional to the number of tacos ordered?
o 1040 Cost, x 2 4 6 8 —GOV;W'*I i;’fo ~ 4130
Q. tacos cos+ Tacos,y | $2.60 | $5.20 | $7.80 X _ ggg_uiﬁ & +40.€05 =
(lo uo) _7;'(_.:01__0, l. 3 515 'l’ l&p () ' "[? (llBO)
\ S
3. Determine the constant of proportionality in the llnear functlon below. - 10.Ho
[Pants,x | 10 11 12 | 13
Shoes, y 20 22 24 26
22.; -1 Zlaz Zgel

= 13
Constant of proportionality: 7 éhoef per pants .

4. Solve the proportion:

P = gy
ﬂm” n=___= IIn - &
7/ 28 '%"’g—

el

5. What is the solution to the proportion?
In= 122

326 _
=, =49 3n a3

22 “n 3
What is the constant rate of change 0\; t;e graph?

|

Constant rate of change: 44 per heur =
Hd_og By 12 _y &
|7 7 7 = >

o

7. What is the rate of change (constant of proportionality) in the graph below?
(Hint: Look at the change in the y values over the change in x values, then simplify.)

X 5 6 8 12
4 4.8 6.4 9.6
Tog 9h.g i3 aE.

Constant rate of change:
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8. What is the constant rate of change of the table below?

X 1. | 2 ] 3 4|
y 22 4.4 6.6 88 |
A e 9L Ll 40 8 P R A
2.L /7:1 ) Lz L

Constant rate of change: /Z. W

9. What is the rate of change of the line?

Constant rate of change:

€0
T 1 g
< 50 o /l/ O Liters of wair consurmacl per df&-‘
L U } -
BT a0 '
$F | "
BE
)9 ‘él 20 l .i-}’,f
g - e
10 _..‘4{:’:,- -
4"/ ! j
0 1 2 3 3 s 6
Days

10. Jackson mows lawns in his neighborhood. The equation y = 12x represents the amount of money he
earns for each lawn, x, that he mows. What is the constant of proportionality? %17

11. The mountain bikers were one quarter finished with their race&c the 2 mile mark of the track. How
long was their total ride going to be by the time they finished? (DY 2mi MM mi Em

1 1
1 ¥ - T
2. mi L -'i ’J l e ALl Hae
/ _— l ] 208 4 ~ uucw‘
w:} Their ride was S o tes long. 4 ( 2z d 2 / £inie eluec|
2 —Z—rm‘—”}" = =gl v (=) ,,(?‘—'.q' - C) W/ race .

(
12. The graph shows the amount of total liters of water consumed over days Whlch statement about the
graph is not true?

a. The graph shows a proportional relationship. \/CS 60 )
@ The graph shows a non-proportional /%/ﬂ?

relationship. o
c. The unitrateis $10 per day. NES

Total Water
Consumaed (liter)
w
o

d. The lineis straight. \les
20
w‘""f
10 R PSSRANIEETY SeSpeReRR
o~
W 0 1 2 3 4 5 6
'(‘éfy ,(o. Days
\)v“v ﬁr Sed Up o pPro portion )
/ 13. If it takes 16 gallons of gas to drive 320 miles, ho any miles can be driven using 22 gallons of gas?

miles can be driven on 22 gallons of gasﬁj 220m_ XM, 1lX =140

o q- 224 \ o
@ ZLZ.D._J 20 — 120 (22) = Q4O mi | e i y ”’; = _ZEF"‘.? - (g:‘{‘}?ib

14 Maria can travel 195 miles in 3 hours. At this rate how many miles can she drive in 5 hours?

Shecandrive _H1 S miles in 5 hours, @D _195m = ©§ mph = 5¢( S) PLS miles
3 or @ _'.q,f; E_-

15. 20% of the 30 soccer team members are new on the team. How many members are new? > f
There are (p new members on the team. .20 (3 D) = (e _’? - Clj:'

7,0/0:—.2.0
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16. Lily spent $52.00 total on clothes at Target. She forgot to use a 25% off coupon when she checked out.
What would have been her discount if she had used the coupon? 2% = .2¢
52 (25) = 13 This s +he discwnk.
She wonld hawve notien @ (5,00 vér
l'he re ) wlow (Price .
17. Bob had dinner at Macaroni Grill. His bill was $26.53. What is the amount he should leave for the
waitperson for a 15% tip? Round to the nearest dollar. ‘go/b -,

2657 (

£ 14, 00

Her discount would have been

s 145

P 4 .00 )

18. Computers at Joe’s Electronics are discounted 20%. If the tax rate is 7%, how much will a 6350

computer from Joe's Electronics cost after discount and tax? e ®) C LD) 70 Find di

Z 0] = 5

(709 = 20 and 7% = .07) %50-To= 250 20
ltwillcost 4 2949.00 after discount and tax. e amoont : 2.g0 (07) = [, 90 Fird

S vo +19.40= 249. 0 &

19. On a map, 1 cm represents 50 miles. Find the actual distance between two cities if they are 4.8 cm

apart on the map. (Hint: set up a proportion.) 50 mi - Kol . X F:'Z—L(O\
[ em Y, 9cim
The actual distance is__Z 4 D miles.

X = HO(H.§&)

20. The actual distance between Atlanta and Savannah is 235 miles. Determine the scale used on the map
below if the distance is 5 cm.

He should leave for the tip.

/I)Ur'J."

The scale used on the map below is [ cm: LI( 7 miles.
(88 / )
b ~ U] X M _ /Lﬂ)g 1419
« Y - | em ‘ 5 em
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